Angles and Parallel Lines - Provincial Review
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Answers: 
1. C
2. D
3. C
4. C
5. D
6. A
7. A
8. B
9. D
10. A
11. [bookmark: _GoBack]B
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In the diagram below, which lines are parallel?
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In the diagram below, what are the measures of Za, £b and Zc?

La=25°, Lb=155°, Lc=25°
ZLa=155°, £b=125°, Lc=155°
, Lb=25°, Lc=25°
| Zb=165°, Ze=15°
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Which set of diagrams shows two examples of complementary angles and one example
of supplementary angles?
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A carpenter’s square s placed on a board. What is the relationship between 1 and £2 in the
diagram below?
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Rank the following types of angles from the smallest to the greatest measure:

L acute
I obtuse
i reflex
. right
V. straight

A LIV,ILV,II

B. LIV,V,ILI

C. OLLIV,V,I

D. OLLV,IV,I
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A cruise ship travelling parallel to the shoreline turns 25° to the right. It continues in
this direction before making a sharp right hand turn so that it is now pointing at a 10°
angle to the shoreline.
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‘What is the measure, in degrees, of the second turn?
A 145
B. 165
C. 325
D. 345
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Estimate the measure of ZDBE .
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Note: This diagram is drawn to scale.
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‘Which set has two true statements about the diagram below?

A - 22225
« £3 and Z4 are corresponding angles

B. + there are two transversals and one parallel line
* £3 and £4 are alternate interior angles

C. «Z=/45
* £3 and £4 are alternate interior angles

D. -« there are two parallel lines and one transversal
* £3 and £4 are alternate interior angles
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In the diagram below, the wall is supported by a brace cut from 2'x 4' lumber.

‘What is the relationship between £1 and £2?

corresponding angles

alernate exterior angles

vertically opposite angles

exterior angles on the same side of the transversal
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The diamond pattern of the golf vest has parallel lines as shown below. Which angle(s) is (are)
congruent to £3?

£2 only

22 and £7 only

£2, £6 and £8 only

£2, £6, £7and Z4 only
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